Paper: B.E_B.Tech
Set Name: |Item23
Exam Date: | 26 July 2022
Exam Shift: | 1
Langauge: |Odia
Topic: Mathematics-Section A
Iltem No: 1
Question ID: | 100101
Question
Type: MCQ
Question: F69@9 £ R — R 9e° §Qe8q oeq 6dda@ F(3x)—f(v)=x 1 98 A8) =7, 696% f(14) AAIg :
A: 4
B: 10
C: 11
D: 16
Topic: Mathematics-Section A
Item No: 2
Question 490102
Question
Type: MCQ
Quest A699Q O ¢JRaR 99° A 4@ §Q z;=1+2i | 9@ B 9@ @Q z,, Re(z,) <0, 6090@ OAB 9«

uestion: = _ p - o s

deeRISl 9L QYE KICa @€l OB, 6069 @f)] ¢lUg 69 40 6% ?

A arg z,=m—tan" '3
B: ( 2 1 4

: arg (z,=2z,)=—tan™ " —

& % 2) 3

C: | 22| = J10
D: |221 — Zzl = '\/E
Topic: Mathematics-Section A
Item No: 3




Question

D- 100103
Question
Type: MCQ

A% eI ANQQE ATe Bx+y+4z=—2

x+y+z=0
Question: N ﬁ 1
AX=3y=p Q ALGY ORI 2R, 606Q AR 8x+y+4z+2=0 OIg @4 [3\, u, _E]

QA GO AT :
A: 3\/3
B: 4
C: gsh

9
D: E
3
Topic: Mathematics-Section A
Item No: 4
Question
D- 100104
Question
Type: MCQ
Quest A60QQ A @ 2x2 A8, det (A)=—1 9Q° det (A +1) (Adj (A)+1))=4 | 6062 157 A Q
uestion: p _

Qe 2@l YUIQIR IR 4F1d 6289 :
A: -1
B: 2
C: 1
D: _\/E
Topic: Mathematics-Section A
Item No: 5
Question
D- 100105
Question MCQ

Type:




Question:

364 4
=1, y=3,x=0, x=1? 7lIow QA ZE 6AYR TR 3 260 | ALY YIew °6lHl a ey -

Yy
A: 3
B: 5
C: 7
D: g
Topic: Mathematics-Section A
Item No: 6
Question
D: 100106
Question
Type: MCQ

QEG GedIRR 68411 2, 22,23, .. Q° 4, 42,43, . @ G9IQ @9, KL JeQ°gl QRlRer 60 NQ° n
Question: N I 225 n

| 9@ 9918 60 +n UQ Jedlian e (IR aR) (2) 826G, 6669 > kin—k) aqag :

k=1
A: 560
B: 1540
C: 1330
D: 2600
Topic: Mathematics-Section A
Iltem No: 7
Question
D: 100107
Question
Type: MCQ
log, (1— x+ x2)+loge(1+x+x2) [—'rr 'rr)
2 , Xe|—, — 1
. Q¢ aee f()= SecY — Cosx 27 2)—{0} @ x=0
Question:
k , x =

0I6Q FQRER 6T, 6069 k AR :
A: 1
B: -1
C: e




D: 0
Topic: Mathematics-Section A
Item No: 8
Question
D 100108
Question
Type: MCQ
,__ x+a , x=0

A¢ QI8 Q¢ 699, R @ueq aee f(0)= E—4 , x>g &

Question:
x+1 - o= I "
X)= PARRR 2R, 6069 (gof) (2)+ (fo —2) delle ¢

8(x) -2 +b 120 g (gof) (2) +(fog) (—2)
A —10
B: 10
C: 8
D: -8
Topic: Mathematics-Section A
Item No: 9
Question
D: 100109
Question
Type: MCQ

2 -2 +1x-7, x<1 ; o

aeaea f(x) = 5 x=1 0160 IR? f(x) @ AQRIL A AR, b A
Question: —2x +log, (b —4), x>1

IRIAIFEA 69T 26T :
A: (—6, —2)
B: 2, 6)
C: [—6;: —2) i\ (2, 6]
D:

[—JE, -2) U (2 x/ﬂ

Topic:

Mathematics-Section A




Item No: 10
Question ID: 100110
Questi
T;pe; ion MCQ
2n 1 + cosx
Question: a= lim = T o Y= [———M :
aQ lim Z 2 Qe f(x) J1+msx , (xe (0, 1), 696Q
a a
< (-
f 2 f 2
a d
B: i 1 — = ‘\/E
/(5)G)
A
f 2 f 2
a a
- i)-a
(5) =25
Topic: Mathematics-Section A
Item No: 11
Question ID: | 100111
Questi
T)l/.]pees: ion MCQ
I - dy 3 i m <
Question: | @ & + 2ytanx = sinx, 0 <x < S WY 3= 0 6062 y(x) @ AAYR IRy 26T :
A: 1
8
B: E
4
C: 1
4
D: g
8




Topic:

Mathematics-Section A

Item No: 12
Question
ID: 100112
Question
Type: MCQ
4R @Q P ge o6 @ 6a9d Q9 (1,2) 9e° @ (—2,1) 0Ig IR 9e0IR Q9q aad 14
Question: | &6G' | F160QQ f (x, y) =0, P 8848 A°0Ia <él 865, 6J9a@ 12l x-83] @Q A, B 0l6Q 99° y-28q
& C, D 0I6Q 689 6@ | 6962 98 ACBD @ 68907 AR :
A: 2
Z
B: 3J17
2
C: 317
4
D: g
Topic: Mathematics-Section A
Item No: 13
Question
D 100113
Question
Type: MCQ
6592 Q2 (o, B) 06Q AN y2=24r GO 2RQ IRT 68l 2v+2y=5 96 @A 6T |
. x2 yz o - - - - i
Question: | QQARERIRA —5 — “5 =1 9& IQ (a+4, p+4) 06Q AFTE ARG @ 3Q AR IOREA AT
« B
| 6069 64 QQT :
A: (25, 10)
B: (20, 12)
C: (30, 8)
D: (15, 13)

Topic:

Mathematics-Section A




Iltem No: 14
Question
D- 100114
Question
Type: MCQ
Quest @Q (1, —2,5) 01 696l x+y—z=0=x—-2y+3z—5 4L AABA 8 §Q (1, 2, 4) kI QR G
uestion: - T ok '
@A €IS gF e MR YWY 26T :

A: E

2
B: 2

2
C: E

2
D: 1
Topic: Mathematics-Section A
Item No: 15
Question
D- 100115
Question
Type: MCQ

— A A A — A A A 0 = = = 30
— » " o - s = >
Question: AR a =ai +j—k 99° p =2i +j —ak @ | 9 a x b @ @4l Qe
AQEAA 30 6961 a AANG :
A: E
2
B: 8
C: E
2

D: 7
Topic: Mathematics-Section A

Item No:

16




Question

D 100116
Question
Type: MCQ

9@ QU9 Q4RQ alale (da) 9e° 948 (aufalg) Qaeed a 9e° % 2ee | UG
Question:

4 2
PX=1)= —, 606°@ P(X= 4 @4l 5) Q9Ie :
243

A: E

9
B: %

81
C: E

27
D: 145

243
Topic: Mathematics-Section A
Item No: 17
Question
D: 100117
Question
Type: MCQ

= — - —— 2 + 3p 2 - p

feae@ E,, E,, E; @606 doda @eye Wodll sddaw P(Eq) = P P(Es) = 8 Qe

Question:
1 - — < <

P(E3) = Tp, 49 p Q ARk@ B 4we] MY JaRE py 9Q° p,, 66069 (py +p,) WIS :
A: g

3
B: E

3
C: E

4




Topic: Mathematics-Section A
Item No: 18

Question ID: 100118

Question Type: | MCQ

A68QQ S={0e [0, 2] : 82sin”6 4 205”0 — 16} | 6P6Q

Question: - -
n(S) + Z sec [— + 26) cosec [— %+ 28) Qe :

8 4 4
€S

A: 0

B: -2

C: -4

D: 12

Topic: Mathematics-Section A

Item No: 19

Question ID: 100119

Question Type: | MCQ

- a1 —1 /5 g 1
Question: tan [2 tan ! = +sec T X2 42 tan”! —} R -
5 2 8
A:
B: 2
C: l
4
D: E
4
Topic: Mathematics-Section A
Item No: 20
Question ID: 100120
Question Type: | MCQ




Question: (~(p & ~q)) A q@@@ cleg -
A: 9@ a8 (2edey) (c6csmis)
B: 9@ FeRIRI
C: (p= q) A q9 deIgm
D: (Pp=q Ap Q dIgmY
Topic: Mathematics-Section B
Item No: 21
Question
ID: 100121
Ques.tion Numeric Answer
Type:
62198 p, q, r ¢ R €I QA8 p, ¢ r @ €I dAF K6 | AAIRQE
(p2+q?)x2—2q(p +1)x +q%+12=0 Q 66IGY ¢e AMRAE 2+ 2x+8=0 Q I ¢@ &6,
Question:
q2 + I_2
606Q ~ 2 =
P
Topic: Mathematics-Section B
Item No: 22
Question
ID: 100122
Ques.tion Numeric Answer
Type:
Question: | 18 &S P88 JIRIFR AWIGLR, 6UU0R (ANFFR AFGLFAR GEITR 36 26T, AR QG|
| 26e !
Topic: Mathematics-Section B
Item No: 23
Question
ID: 100123
Que§tion Numeric Answer
Type:
Quest 3 Q 9AR JERNINg ARSI @7 646 QEd 6AdIIKIRg | {3}, {6, 9, 12}, {15, 18, 21, 24, 27}, ...,
uestion:

6962 IZUQ 11 9 £906CQ AUAUE AR AT = |

Topic:

Mathematics-Section B




Iltem No: 24
QL_Jestion 100124
ID:
Ques.tion Numeric Answer
Type:
Question: | 2AN1A9E PE3-x2—x+1) +x Bx3—4x2-2x+4)-1=0 Q 2R QLS IRAIFEQ AGH 26T
' o
Topic: Mathematics-Section B
Item No: 25
Question
D- 100125
Que§tion Numeric Answer
Type:
queston: | (L FOP (1=)4,p, q < 15 Q JAREIER x 2 Q 499 CelIREs —3 99° —5 ¥R, 6096 13
- | aqed = 2168 |
Topic: Mathematics-Section B
Iltem No: 26
Question
D- 100126
?ues.tion Numeric Answer
ype:
- 1 1
Question: | @@ n(2n + 1) .‘-{] 1 — 2™ dx = 1177 J-U (1 —x"**1 dx 6069 neN n = I
Topic: Mathematics-Section B
Iltem No: 27
Question
D- 100127
Ques.tion Numeric Answer
Type:
A6RaQ 60lIN @@ y=y(x) 9 (3, 3) A& R JTREQ Y @ ARA OF W r-AFQ UG
3
Question: Q@ @ 696l DILIR x-HIRle 3 9Q° x( > 3) ¢lUd 6FQQ cRAGTR [E) 26Q | 9@ Flal 92 Q@ @@
x
(@, 64/10) 6@ G2O AL6R G160 AU 6969 o = |
Topic: Mathematics-Section B

Item No:

28




Question

D 100128
Question .
Type: Numeric Answer
9@ Gee ABC @ E]Iﬁj AB, BC @° CA ¢Ioaq d1aqd Joe gelges 2x+y=0, x+py=15a
Question: 1
9e° x—y =31 9% GQFa @ 62T (2, a) —5<a<2, 2l6g, 6069 p = |
Topic: Mathematics-Section B
Item No: 29
Question
D: 100129
1Q_ue§tion Numeric Answer
ype:
A6RaR ARG flx)=222—1log.x, x > 0 2GR (0, a) 6Q VNG B 2ABAUR (a, 4) 6@ G |
AIUERIN y2=4ax & QI QU6EQ ¥Q p 06Q IR IR UFE FAUARE AL R (8a, 8a—1)
: 25 = 1 = - =
Question: | ciieen 90 @6 @9 @9 [—;, U) FRIERR 06 F6Q AL | 9@ F p 0168 AR AR
X
Z+d-1 269, 6068 a+p = |
o« B
Topic: Mathematics-Section B
Item No: 30
Question
D: 100130
Que§tion Numeric Answer
Type:
ﬂG@@QG@%Ix+1_y+2_2_1@§]€@§‘ P4, 2 Ol @@ @oeea Q 99° R
Question: 2 3 5 W P4, 2,7) O] y26 1096 Q
Q6 9% 29HG | 6669 PQR @ 63079 (0 1@@6R) = 269 |
Topic: Physics-Section A
Item No: 31
Question
D: 100131
Question MCQ

Type:




2618 @g M=100 kg, m; =10 kg 99° m,=20 kg 596 QR @7 A 621Qa8 | AN 98
Ag6218 1e° 01 9&R ARA G 2RI ACE | GRS A LRI o2l AT @6 26T | @R ‘F geald
6269 m, 9% 2 ms 2 QRE6R QU] B60 | F @ (Y 6060 62 ?

(=10 ms~?

Question:
F

— M =100 kg my =20 kg
A: 3360 N
B: 3380 N
C: 3120 N
D: 3240 N
Topic: Physics-Section A
Item No: 32
Question
D: 100132
Question
Type: MCQ

4@ 60908 6a6aled 6 MHz § 10 MHz QI8 29I 689087 Q69dI6R | 6062 0990 6o 634
Question:

QI QU8 QERIAQ MY 6REE 629 ? (R6AAUD° 639 AR ILARESY)
A: 4 m
B: 20 m
C: 30 m
D: 50 m
Topic: Physics-Section A
Item No: 33
Question
D 100133
Question MCQ

Type:




64 6R16T RR6R Y@ 6656 ATS AMAR A 2IQ 4250 AG g6 FRe 266 | 10 ARG asa 1@l 2250

Question: | 99 g8 JFC 6206, A (G6@ ARRI4) Q I 660 629 ?
(log(1.88 =0.274)

A 0.02 min~!
B: 2.7 min~!
C: 0.063 min —!
D: 6.3 min !
Topic: Physics-Section A
Item No: 34
Question
D 100134
Question
Type: MCQ

49 A71EQ ALAR #9 (7)) LI2IQ 6 63dY 900 nm 9L° F1961 100 Wm 2 266, 3¢ 9eaI6a
Question: | L lar (26@ 99) 996 AUEe @udal | go 696a96Q AaQ L lar @96Q 1lem? 6890 666

QIR (@9 KQaRI) 6TIER, A°HYl 6RES 6299 ?
A 3 10%
B: 4.5x 1016
C: 4.5x1017
D: 4.5%10%0
Topic: Physics-Section A
Item No: 35
Qlfestion 100135
ID:
Question
Type: MCQ

- o~ - — - B3 4 —
5 oe eon G0 aIgIen g& Ged (G9 67166@) 12 mm 26T | 9@ Qg QeRIq 3 96 edaIw el
uestion:

FRER QAHAN, T% Ree| 6969 mm 62QL ?

A: 16




B: 0
C: 48
D: 12
Topic: Physics-Section A
Item No: 36
Question
D- 100136
Question
Type: MCQ
1@ 6gR QARG GAGTER 29I QAR 689R A4 B = 2x 10~ sin (0.5 x 10%x +1.5x 10'1g j T
Question:
cR6Mm, @Q}IQ AR 2Ll 6R60 629 ?
A: 6 Vm~! x-43q GQoleq
B: 3 Vm ! z-9gq Gaea
C: 6 Vm ! 2-9§q Q@a6a
D: 2x1078 Vm 1 z-4§Qq Gol6R
Topic: Physics-Section A
Item No: 37
Question
D 100137
Question
Type: MCQ
4a 694198 LR GlﬁG{GQ X; =R 9@° digie caqa AR P, a6 | @ C ARG Q°@|§Q@_
Question: P,
696198 QI6e ARGER 6QIF 696R AR 6TR P, 6214 | 9@ X; =X 29, p, 6966 629 ?
A: l
2
1
B: —_—
J2




C: ﬁ
J2
D: Ruwg
Topic: Physics-Section A
Iltem No: 38
Question
D: 100138
Question
Type: MCQ
5 A A.) .
1 pC @ 99 ol @del 9@ AR 9Aeld 68¢ |27 +3j] T 6Q d6 @QE | 9@ QdelQ Q4
Question:
(o - 45)
ai —4j) ms™2 29, « Q IR 629 |
A: 3
B: 6
C: 1.2
D: 2
Topic: Physics-Section A
Iltem No: 39
Question 100139
Question
Type: MCQ
By N@° By, AR @604 Q29 @9 9@ IR X ¥Q° Y @ 1kl §Q0I6Q QI QAR 6AgR FaY
Question: | 626@ By 9&° By @ 2QAIG 6066 622 ? (X @NAR 200 628 (6F) 9e° 20 cm QYIAIR G2l Y @R
400 99 99° 20 cm QUIQAIF 26S 1)
A 1 1
B: 12
C: e
D: 4 -1
Topic: Physics-Section A




Iltem No:

40

Question ID:

100140

Question Type: | MCQ

QU LIRS IRRFER R6QE 1 Q (i 6@Ee 629 7

4 ()
20 4 ()
Question: \/W\/ \/\N\f M’\f
4 () 4 ()
IJ'L ¥ Yy yYyy
()
40V
A 10 A
B: 20 A
C: 4 A
D: 40 A
Topic: Physics-Section A
Iltem No: 41
Question
ID: 100141
Question
Type: MCQ
C,=1pF, C,=2 pF, C3=4 pF 4° C;=3 pF Q I0IQQ 999Q A2 dIf Q66 6QAIQI06R,
Question: | dIFQ AVEAIS PR ARFE 6REE 699 ?
(20 V QUI66Q1 A6UIRRER ULREG)
A: 200 pC
B: 200 C
C: 10 pnC
D: 10 C
Topic: Physics-Section A
Iltem No: 42




Question

D 100142
Question
Type: MCQ
Question: | @EQIT SHM @6R, 6949, 831U06 IqdR (IRR) 68a 96l K29l gige 996 @t caq ?
A: Qe
B: Qe Q@I
C: QIG‘GMEJ.(QIIEIGG‘IGQIE!@IGEO
D: AR oG
Topic: Physics-Section A
Iltem No: 43
Question
ID: 100143
Question
Type: MCQ
7 mol (6AIR)Q 99, 99 JRIQ 9FIger @l 2IQd FUIAR AL FIU6a 40K @ SIgalgl QF
Question: | SR | YIYR IR 98 6R60 TACEER PR ?
(@& : R=83JK~ ! mol~1)
A 5810 J
B: 3486 ]
C: 11620 ]
D: 6972 ]
Topic: Physics-Section A
Item No: 44
Question
D: 100144
Question
Type: MCQ
P QId, V 2Igeaa 9@ 6716R1216510a (1e gaIa dasigea 991) ayIda 2016, JIefda 2Igerq I
Question:
2qa°aq 9Id Q2IgRI(@a6dQ) | QAR 6gITea A8 (TIRRIR) FITQ MY Q66 629 ?
A: P




B: 8P
C: 32P
D: 64P
Topic: Physics-Section A
Item No: 45
Question
D: 100145
Question
Type: McQ

1cm QISR 99 90 @G NQ AAIR 729 § @696 (4afQ) 66 IR ARIGRI | 92 GIea (9)a
Question: | 98096 (ARETY 69RAR) 75 dyne/cm 24, ARCAY 909G (98 98 QR) QF 6@60 629 ?

(m=3.14 gaqa edfie @9 aid)
A: 85x1074]
B: 82x1074]
C: 7T5%107% ]
o 5.3%10%]
Topic: Physics-Section A
Iltem No: 46
Question ID: | 100146
Question
Type: MCQ

Jae daq 32 km @201 Q6RCEY FIGER, P10 8RR 660 JGde 214 dIRe ?
Question: .
(R=6400 km =g2Q1Q QUIQAIF)

A: 1%
B: 3%
C: 4 %
D: 0.5%

Topic:

Physics-Section A




Item No: 47
Question
ID: 100147
Question
Type: MCQ
96 29QI6a (g694R) 250 ¢ @ @R 9ae 2 Nm~! §° Jais 9da ¥Q §%6Q 6IRIKRE | 92 g6eie
Question: | HRQ 99916 Q6IER v 626 GAIAN, §°0 ALY ARG (IRERAR) 6REE 629 ?
250 g —"G0800— 250 g
A: 4
242
B: E
2
C: E
4
i)
D: —_
J2
Topic: Physics-Section A
Iltem No: 48
Question
ID: 100148
Question
Type: MCQ
350 N €I 020! (69R74%) Aa@ dIgeel 9@ adea 50 kg @ AITEET ¢S | 99 AIFQT 4 ms—2
Question: | QRE6Q Fa6r Be2a NQ° g8 5 ms ™2 QREER QA6 ofnl, A0R, 2T QIF |
(=10 ms™?)
A: T=700 N, 9@ 696q
B: T=350 N, Ge2aa 66w
c: Q80 @0eq Gl cack g8de
D: Q0 ong BRI 6Q6R Ade




Topic:

Physics-Section A

Iltem No: 49
Question
ID: 100149
Question
Type: MCQ
a HRAILA QGG 30° ¥Q° 45° 6RIFER Y6RD FAIAIRAR A8 9g (69I6RFIAN), Y9 AR AR
uestion:
QPeIq QAR AALER Jegen | 6A7IRE JIRde 699 (CRERIdT) @ ARUIS CRER 629 ?
A: Tagld
B: 2o
C: 1251
D: 1 82
Topic: Physics-Section A
Item No: 50
Qgestion 100150
ID:
Question
Type: MCQ
99 0% 191 99 0.5 mm 6E, 6.8 cm 6GdY Y Y@ AR QIR M AT AT R
Quest QAR | &Y €ARR QP 1.5 mm I9° QR (INQ QT 7 €26@, 0100 9FY I8 TR ATF
uestion:
AFT6Re QIS AN 6R60 629 ?
(2om60 Q@ld 2R 50 G0ea 8da)
A 6.8 cm?
B: 3.4 cm?2
C: 3.9 cm?
D: 2.4 cm?
Topic: Physics-Section B
Item No: 51
Question
ID: 100151
Question

Type:

Numeric Answer




— - — — — A —
Q@ geao (6geaqlan) @ gede 696 §AMIea Jd6a 9Rc 6aga (AF4) i 9e° ClEagd

M

Question: | (@gel) y=5x(1—1x) 24, 6962 QIRAR 6ER | FEHIERS j 6@ |
(g=10 ms—2)

Topic: Physics-Section B

Item No: 52

Qlfestion 100152

ID:

?ues.tion Numeric Answer

ype:
1 kg 99Q 99° R QMIAIEQ 9@ 82 910 (I 60R 66 @qael 92 JI0nq gna, AAI8R 1a 1§q
QAICAVER AIRIFER GRIER | §%4 A2 AAIR 9ZQ 29I 9@ 99 FAQ APET IQER T QISR |

Question: } .
qaATq ¢IF6aem, 995 6969 AQRE 2RWIQ 26Y, oK c@lde e 41[5 rad s~1 29 |
x= 6eR | (g=10 ms 2

Topic: Physics-Section B

Item No: 53

Ql,.lestion 100153

ID:

_CI_)ue§tion Numeric Answer

ype:
o6 F19RY ARINIER gal 1 m 634YR YR SI0Q AR Q8] AIGRl AIF 1kg @ AR ERGR | A% QF
0.4 mm AIGA 9Q° ARAIRECCRT (2AREe0!) = 0.02 mm 62Rl | 6QAFUR QIO MIQ 0.4 mm g

Question: | 2RI ¥Q° YRAIQECFE * 0.01 mm 62Al | 4G A& AQRQ (Ay) @ dlgea @8 (¥ea)
x X100 Nm~2 949, 6669 x @ ¢ay 629 |
(g=10 ms—2)

Topic: Physics-Section B

Item No: 54

QLfestion 100154

ID:

Question

Type:

Numeric Answer




2OFRNR 29 2IGeR AR 2€Q 21QE 100 Hz 99° QIef 29raeaq dId @Rl 96 2IQE 50 Hz

Question: .
260 | 2QRNER QIR AR 97 A6R QR Y@ 7 Hz 29, x @ a4 6966 ? x=
Topic: Physics-Section B
Item No: 55
Qlfestion 100155
ID:
Ques.tion Numeric Answer
Type:
e QI019 (QEAIFS) AAILA 656, ARG LRIIRER t, NQ° t, 67IEERR QRF &2 aal QY6 9gER
del 62108 | G (d9oa) | 29 JRIFQIE, 9g deda Ol Y@ JaI2l avm F QIal 2Rdl
RAUAREE | 28 A5 IR cRINESR (F0Q) V 266 |
Question:
er, =3; 5 =05mm 1
ery =4, 5=1mm T 1oV
Topic: Physics-Section B
Item No: 56
Qgestion 100156
ID:
Question .
Type: Numeric Answer
qe foa 98 ARCER Tgen QLGN @R gl gee A°Ye 62IRed | AlcRg @92 e ‘1’
40 cm 6S | YR ARG gEsaRll x @ P A2 6g4l1 A°YD @M ey 992U @ 80 cm €RIQQAIN
(699 96 80 cm Q1QI 62IRAUR 6QAR 9F) | x @ A Q 266G |
P
Question: | B Q ‘
P=4()
<«
A C
J
|——()
E K
Topic: Physics-Section B
Item No: 57




Question

ID: 100157
Question ,
Type: Numeric Answer
QUKL ARCER M6TFE @60d (daIR §QYe deIR) 1 ai ASYNS 2IQEER 6R6o
A 699 ?
8§ 20mH 6|I.LF 44 50mH 8
—WMA— T /| VWWA TET——/MN
Question: — 0.5 uF == 0.5 uF
1} WW | WW || WW
LY 05uF 10 08pF 4Q 0.8 uF 2Q)
)\
Ly
220V
Topic: Physics-Section B
Item No: 58
Qlfestion 100158
ID:
?ues.tion Numeric Answer
ype:
1 1 i - . _
L 99T — @ gid, 9@ 96R1 GaR 6ARd IR QUIKIRR (6TIRIR 6aRe & MT) | AR
geéeadis 1.5 99° ¥21Q Qa9 dIQ 62829q T, @06aoa (9@061) R 626m, R @ qmi
cm 699 | (where p=object distance, v=image distance)
AY
4] em-1)
Lo10 ¥
Question:
+ 0.08
+ 0.06
+ 0.04
+ 0.02
o B 1 3 M 1
X —0.10 —0.08 —0.06 —0.04 —0.02 ()
2 (em~1)
L
Topic: Physics-Section B

Iltem No:

59




Question
D 100159
Question ,
Type: Numeric Answer

QIRERI69R, 699,768 ANEAR, AR 920 FIBAR ARRR GO 6@y \ 266 | 92 31 GISIAR AR
Question: | (QIQeae AARR) 1e° AR doea 271 GIGAR ARG, FEER PAF 6LAAYR AITRY “aN” 24, 6569

a Q ¢ay 69Q |
Topic: Physics-Section B
Item No: 60
Question ID: | 100160
Que§tion Numeric Answer
Type:

2R AARGER SRR FRA GG F6aEa TGS mA 266 |
4 k() I I
Question: Wy - I -
Z
(100-120) V /—Z V,=60 V< 10 kO

Topic: Chemistry-Section A
Iltem No: 61
Question ID: 100161

Question Type: | MCQ




elmel I @ eIRa!l II 996 daiel |

QIR - 1 el@e! - I1
(6419&) (URNQ)
| (A) BrFs I o

e (B) [CrF >~ (1) 6lgia daidiein
(C) O, (III) QI6CIRIM QR TQUARIR,
(D) Pal (IV) 2eaee1a
A0R AR G 908 909 UL |

A (A) - (D), (B) - (1), (C) - (1), (D) - (IV)

B: (A) = (IV), (B) - (1II), (C) - (IT), (D) - (I)

c: (A) - (W), (B) - (IV), (C) - (), (D) - (1L)

D: (A) - (I, (B) - (IV), (C) - (IT), (D) - (I)

Topic: Chemistry-Section A

ltem No: 62

Question ID: | 100162

Question MCQ

Type:




QAR I @ QIR II 926 A2l |
QIR - I QIR - 11
(geaIR1gGe/gdaaigde) (@esgae)
Question: (A)  250,(g) +O,(g) — 2505(g) (I)  Fe(s)
(B) 4NH;(g) +50,(g) — 4NO(g) + 6H,0(g) (IT)  Pt(s) —Rh(s)
(C)  Ny(g) +3H,(g) — 2NH;(g) () V5,05
(D) Vegetable oil(l) + H, — Vegetable ghee(s) (IV) Ni(s)
Q0@ RQ0Q 4 Aag I QI |
A (A) - (1), (B) - (), () - (1), (D) - (IV)
B (A) - (IID), (B) - (1), (O) - (I), (D) - (IV)
c: (4) - (IV), (B) - (11I), (€) - (1), (D) - (1I)
D: (4) - (IV), (B) - (IT), (C) - (1), (D) - ()
Topic: Chemistry-Section A
Item No: 63
P
uestion 1100163
Quest
T;pees:tlon MCQ
Q760 A6 oF GRS |
@ I: 6QI0R, 2g6a AVELIRT QARG 65I8R Al MIARY YRGS |
Question: | @@ I1:  YRIEAIFR IRIFYLAR QUIAE ALERER 6AAIGFR 60609 TRAINRR QUIQIT 0IQ)
AR |
AQ0Iq AUYS 2WSE QUL |
A: g a8 I 9e° @@ II 04 |
B: Aed 98 I 9e° @ II 9 |
c: @8 10, @@ II g |




D: Q8 19a , @@ 11 0% |

Topic: Chemistry-Section A

Item No: 64

Question ID: | 100164

Question

Type: MCQ

Question: ARRR d9IRT QPR G AIg AR AR0IG AUYS FYERAET 6208 QIR :
A el Qe

B: QeRlE AR

C: CAQYGR JRRIRE! AR

D: AR 26AM 90 UQI6R N 62919 A7 98 |
Topic: Chemistry-Section A

Item No: 65

Question ID: 100165

Question Type: | MCQ

Question: H,0, @ 22609 d6akl @89l dIR FRYe RIG 6066 U9Le 29 ?
A geil

B: adlf Gene

C: afia ag

D: @RlIeR

Topic: Chemistry-Section A

Item No: 66

Question ID: 100166

Question Type: | MCQ




BeCl, @ LiAlH, 92¢ daqal &4 :

(A) AICl,
(B) BeH,
Question: (C) LiH
(D) LiCl
(E) BeAlH,
A0R A0 6248 :
A: (A), (D) and (E)
B: (A), (B) and (D)
C: (D) and (E)
D: (B), (C) and (D)
Topic: Chemistry-Section A
Item No: 67
Questi
Do 100167
Questi
T;Ipees: on MCQ
Quest 6RIQIER, JIRIQ UEHIR 6REQ Q6 dGTe, 3 - gRIIE “X” 9e° gailE “Y” @ goRalg Gad
estion:
’ @A@Y | “X” NQ° “Y” QaIQEs 62088 :
A: B(OH), 9@° NH,
B: BEH'E) ﬂ@o N'I_I:)>
CZ B2H6 ‘{]@o HN3
D: NH, and B,0O,
Topic: Chemistry-Section A
Item No: 68
Question ID: 100168

Question Type: | MCQ




Question: Q8 goRagean 6996 Y@ 2AeQUlol PRI RQI9R8 Q6L ?
B: 2NO, + H,O — HNO, + HNO,
C: MnQOy + 4HY +3e™ — MnOQO, +2H,0
D: 3MnO3~ + 4H' — 2MnOj +MnO, +2H,0
Topic: Chemistry-Section A
Item No: 69
Question
D: 100169
Question
Type: McQ
Quest AN, UGS A ARIFER AGAITR 696@ KMnO, @ 6l QIRdd! aof 2saadid | goaalea
uestion:
AIIFRER 6710 AU FIQE L AR 6268 |
A: 5
B: 1
C: 7
D: 2
Topic: Chemistry-Section A
Iltem No: 70

Question ID: 100170

Question Type: | MCQ

Cl+CH, — A+B

Question:

AUEAR FoRal 6AITRER A 9° B 62283 :
A: C,H, 9e° Cl,
B: CHCl, @ H,

c: CH, e HCI




D: C,H, e° HCl
Topic: Chemistry-Section A
Iltem No: 71
Question
D: 100171
Question
Type: MCQ
Question 100 mg @ p-RlR6gIeTan 1e° 9a0R e {94q 2ndl ARl die FALe 608 6MdRe AQ0IQ)
u on:
Qaf ?
A: Qg dIew
B: 2-5 g6 A A0S 69N 99
c: QA CIeR
D: TLC G216 (geal 20 Q@¢6adgal)
Topic: Chemistry-Section A
Item No: 72
Question
D: 100172
Question
Type: MCQ
Question: | EIANE CRIEAITFER QTR TG YQ° ARG FARIFCA QTR ADE gERAI NE6ER OTIC 626E :
A: gogeal Mo 26 A°gFe!
B: QRQ YD G
C: (8dne Cow
D: JoQaAl MINER RENER,IEFRR ANIQ
Topic: Chemistry-Section A
Item No: 73
Question ID: 100173

Question Type: | MCQ

Question:

QeORe 6aa 6A1IFaE 1ERIAITE, Q6L ?




)
B: \_.. ;
’ .
Topic: Chemistry-Section A
Item No: 74
Question ID: 100174
Question Type: | MCQ

Question:

a¢] 9oRaIea g0 adle A 99° B 6909Q,

[Ag(NHy),|* OH  NaBH,

Y

s
X~
®

HO

» B




o H OH
A: - é - @
H  CH,OH H  CH,OH
H OH H OH
B: - @ - @
H CHO H CH,OH
L H OH
C: - é N @
H COOH H COOH
2 H OH
H COOH H CH,OH
Topic: Chemistry-Section A
Iltem No: 75
Question 1409175
Question

Type:

MCQ




6RQ 9ORIRRE 1@ 67IR FRIPN FY66ada 6Q1F1RG, (PhMgBr) 980 goael a6a H,0* Q991
AR 07 AINCANAG 6QQ |
Question: Ph
|
Ph— (Iz —OH
CHj,
A: CH;-C=N
B: Ph—-C=N
O
C: Il
CH;—C—O-Ph
Ph—C-CH;,
D: Il
O
Topic: Chemistry-Section A
Item No: 76
Question ID: 100176

Question Type: | MCQ

Question:

Q¢ ORI G QU 6208 :
OCH;,4

O,N
(i) Na/liq.NH;,

(if) CH;CH,OH

OCHj

O,N




OCH,

H
B:
H>N

OH
C: 02N4©

OCHj

H
D: 02N
Topic: Chemistry-Section A
Iltem No: 77
Questi
Dot 1100177
Questi
T;Jpees: on MCQ
ARYR CIRAIERIFAN AR FaoI A0R GF €LRE :
*N,CI~ N, Cl~ N, Cl~
N3 Cl™
Question:
(A) (B) (©) (D)
OCH; NO, CN

A (A)> (B)> (C) > (D)
B: (A)>(C) > (D) > (B)




D (©) > (D) > (B) > (A)
Topic: Chemistry-Section A

Item No: 78

Question ID: |100178

Question

Type: MCQ

Question: 696R ¢ I8° JRRIANR GIAER J0RY 96 YRS a1 VAR G0 /ae ?
A: QYISI6ARR AP
B: AR,

C: 2RI6APR AR

D: QR - 2R USSR
Topic: Chemistry-Section A

Item No: 79

Question ID: 100179

Question Type: | MCQ

Question:

FORYR FRIG 6RLG IR FRIGS aaal ?

/OH

H—-C
H-C—OH
HO—(l.'—H O
H-COH
H-C

|
H




HOCH, | H
. H H
H OCH,
OH OH
HOH,C . H H _ CHOH
. H #l  fo H
H H
OH OH HO OH
OCHj
H OCHs;
H OH
D HO H
H OH
H OH
CH,OH
Topic: | Chemistry-Section A
ltem No: | 80
Question 1 400180

Question
Type: MCQ

Q760 QR @8 TG : 6610Q Q6RIE (A) ¥Q° AMTY QIQd (R) Q6L 5T0 @IS |

Q6QI@ (A):  CH,Cl 2648 99 36018 AlCL, Q96 gealaiae goaal @d -9 p-tada
2R a9 QI |

Question:

@IQé (R) : 2ARRee —NH, gd AICL, 9896 @94 F0Q 649 A8 62IRaI 1e° 622dlR!
m-C2IGR ZIFRE 9 QI AUEQ @9 |

QUERIB 2B ARINEH A0R RAQG. 77 TQF F1kIG AL |




A: A9 (A) 99° (R) 9464 9Q° (R) 6298 (A) @ A0R YISyl |
B: A9 (A) 99° (R) 904 @3 (R), (A) @ A0, QUi Q62 |
C: (A) de4 @2 (R) Gl |
D: (A) eyl @9 (R) QoM |
Topic: Chemistry-Section B
Item No: 81
Question
ID: 100181
_(I_)ues.tion Numeric Answer
ype:
QR 96 94 HdU6 6QIeAITag AR 2AYe @5 Mg @ 48 ppm ALGIR 2 L. @94 96 AR
Question: | 1 99 @QE6Q Mg dQeIga Q¢ 6208 xx 107 | x Q Ry 6288 | (Faeeq gaase)
(@@ : 28ee 9gQ Mg=24 g mol~1; N, =6.02x10% mol~1)
Topic: Chemistry-Section B
Item No: 82
Question
ID: 100182
?ues}ion Numeric Answer
ype:
YRERIERR. IQ° APERRR 9@ AFE6R 40% REGIERR. 996 (by mass) &I, 6J6666R QId
Question: )
62@&@ 2.2 bar 2IREGIEFRQ IR QT 6208 bar | (Pegen gaa°dl)
Topic: Chemistry-Section B
Item No: 83
Question
ID: 100183
Question ,
Type: Numeric Answer
RENQ,A I9° FACAR O 646 2NTI 6229 CIERERER RENY,AQ JRERH FRERR AFERTR x Gd
Question: | 629 | x @ @Y 6208 (Pacen geacs)

(R6RQ,2 @99 = 9.1x107 3! kg §a6R @99 = 1.6x10~ % kg)

Topic:

Chemistry-Section B




Item No: 84
QL_Jestion 100184
ID:
_?ues.tion Numeric Answer
ype:
24 g Q 6RIQRIQ S AFERAER 298 K ¥4&° 1 atm QIIER @ @F QUIERIQT f506a o 621R& |
QUERIR! feaa SIaaIel 298 K § 300 K @ Q& 24 | 6RIQRI @28 A79a 164Id afeas 6298
Question: | —x k] mol 1|
X Q gy 6008 . (Bacen gdaaul)
(@@ : F A Acaa GIgIGel =20.0k] K™ L) 6R10RIq 48 Q98 U6 6907 aQ |
Topic: Chemistry-Section B
Item No: 85
QL.Jestion 100185
ID:
?ues}ion Numeric Answer
ype:
6K66696% 800 mL 0.5 M QIa8a 2ge IR0 9af @aldi 21Q 2Iger 2uIq @ddid 9e°
11.5 g QIRER 29 Q860 62ad | 2938 FIRER 2¢ 994 ARG 6208 xx1072 M. x @
Question: _ _ .
Ry 6298 | (Fecen gaacsl)
(RINER 2GR 6AINIQ 98¢ =63 g mol 1)
Topic: Chemistry-Section B
Item No: 86
Question ID: 100186

Question Type: | Numeric Answer




298 K 69 Qleyiel dale 92 goqdl gin 6268 2 x101° |
Cu(s) +2Ag™ (aq) = Cu?™ (aq) +2Ag(s)

L~

Qifyiegl dais 12 géqal aQ

Question: 1 o 1 i
ECu (aq) + Ag(s) = 5 Cu(s) + Ag" (aq) €2ad xx10~8|
X QR 6298 |
(Facor geiaesyl)
Topic: Chemistry-Section B
Item No: 87
Question
ID: 100187
Question ,
Type: Numeric Answer
Fe,0, § 9@ 6917 2IGe8 dIRel da 9eeIe 629291 916 F (T1068) 6x 6208
Question: '__ .
(Fecen gaarsl)
Topic: Chemistry-Section B
Item No: 88
Question
D: 100188
.IQ.ueS_tion Numeric Answer
ype:
A - 2B+C goael aIe AfIg9ee 6228 100 s ¥9° 50 s, 6d606R6R JORI0e A @ QS
Question: )
Qag6a 0.5 99° 1.0 mol L™ 1 | goRieea qF 62a8 | (Fecea gaaoal)
Topic: Chemistry-Section B
Item No: 89
Question
D: 100189
Question .
Type: Numeric Answer
Question: | [Co(H,0),]CL, 9&° [Cr(H,0)/]CL, f16a 6a9a 5 9Aa1d 2Igda 0d1e, 6208




Topic:

Chemistry-Section B

Iltem No: a0

Qtfestion 100190

ID:

Ques.tion Numeric Answer
Type:

Question:

qdiRed aodGea ca@ie Cl, A8e goadl @& agle X &4 | X 6a 2ol 2IR6gIEeas il 6008
|




